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SECTION A: Multiple-Cholce Questions (15 x 2 marks)

For each of the question from 1 to 15, four options are given. One of
them is the correct answer, Make your choice (1, 2, 3 or 4). Shade
the correct oval {1, 2, 3 or 4) on the Optical Answer Shest (OAS).

1.  Part of a scale is shown below. What is the value of the reading at X?

Lo s l

i

-

(1)
(2
(3)
(4}

S T A A A

3000 4000

5001
5100
5250
5500

#.  Whatis the product of 38 and 77

(1
(2)
(3)
4

M
{2)
(3)
4)

45

183
213
273

Find the sum of 3988 and 465.

4353
4383
4453
4463

n
(2}
3)
(4)

149
249
4629
4729

R

less than 2438 is 2280.

T
5000 ‘s‘
b 4



Adrian finished doing his homework at 1 p.m.
He started doing his homework 2 hours ago.
At what time did he start to do his homework?

(1)
)
3)
)

11 am.
11 p.m.

3 a.m.
3 p.m.

What is the missing digit in the box?

11:[5
X 7

{%)
(2)
(3}
4

There is 703 £ of water in a tank. 209 { of water was poured away.

875

L B

How much water was left in the tank?

(1)
(2)
(3)
(4}

494 ¢

506 £
902 £
912 ¢

— 200 = 40 tens

What is the missing number in the blank?

(1)
(2)
(3)
(4)

160
200
240
800G



9. Find the difference in value between 14 hundreds and 29 tens.

{1y 111

{2) 150

(3) 1110

{4) 1371 { )
10, 7Tx8=_ __ +84+8

What is the missing number in the blank?

(1y 15

(2} 16

@) 40

4y 56 { J

11, 42 =4 groups of 6 + _groups of 6.

(13 18

2y =z

(3) 3

4) 24 { )

42. The cost of 2 pineapples is $6. What is the cost of 10 pineapples?

(1y #12

) $30
3} $3
4y 360 { )



19.  Which one of the fﬂllowihg numbers will have a remainder when
divided by 37

14,

15.

{1
(2)
(3}
(4}

198
263
354
471 ( }

Elijah bought 491 paper clips, Lily bought 87 paper clips more than
Efijah. How many paper clips did Lily buy?

(1)
@)
3)
(4)

145
212
357
558 ( )

Raymond and Johnny shared a sum of money equally. After
Rayrmond spent $56 and Johnny received $56 from his mother,
Johnny had $130. How much money did Raymand have in the end?

(1)
(2)
(3)
(4)

$18

$74

$112 |

$242 ( )



SECTION B: Open-ended Questions {6x imark and 14x 2marks}
Questions 16 to 21 carry 1 mark each. Questions 22 to 35 carry

2 marks each. Show your working clearly in the space provided and
write the correct answers in the answer hoxes provided.

16.  Look at the following clock. What time does the clock show?

Ans: p.m.
17.  ‘Whatis the value of digit 9 In 88617
A-ns:;r 1
! ek

18 Wiite six thousand, three hundrad and five in numerals.

Ans:




18. A papaya is placed on a weighing scale.

What is the mass of the papaya?

Ansi i 3

20,  Arrange the following numbers in order, beginning with the smallest.

4240 | 4204 , 4024 4420

Aris | ) ' :
smallest o greatest




21. What is the length of the pencil?

Ans: C

em |

99 Lance has 480 cards. Bobby has 570 cards. How many more cards
does Bobby have than Lance?

Ansi

53, Use the following digits to form the greatest 4-digit odd number. Al
the digits must be used and each digit can only be used ohce.




24, There were 9 boxes in a room. Each box corntained 508 baoks. One
book was taken out from each of the boxes. What was the total
number of books left in the boxes?

— . Ml
Ans: o ]

25 Mary has 278 marbles. Sally has twice as many marbles as Mary,
How many marbles does Sally have?

i 1
Ans: L _, _‘

26. Find the missing number in the blank below.

2326 . 2106 , 1998 , 1888 |, 1778

Ans:




27.  Tomr's clock shows 2.30 p.m. His cloc
gctual time?

28. Study the diagram below,

Find the total distance from Point At

k i& 1 hour slow. What iz the

Ans: P

o Point C along the path shown.

ANS: m




- 29. - Ethan bought 438 erasers at 3 for $1. How much did he pay for the
erasers?

30. Johnny has a certain number of coins. He packs the coins into bags
of 8 with no left over. As a resuli, he has 161 bags of coins. How
many coins does Johnny have?

31. Tom and James shared $156. Tom had three times as much money
as James. How much money did James have?

Ans: | $

] §
: b

0



32, Fred has 72 stamps. Greg has twice as many stamps as Fred,
Hansen has thrice as many stamps as Greg. How many stamps

does Hansen have?

11

Ans:




34. Lock at the diagrams below. Containers A and B contain some
water.

= 500 mi

Gontainer A Container B
How much water must be poured from Container 8 into Container A
so that both containers have the same amount of water?

L
i
b
=
oA

35, Clement and David shared some marbles equally. After Clement
gave 39 marbles to David, how many more marbles did David have
than Clement?

Ans:

12



SECTION C: Story Sums (4 x 3marks and 1 x 4 marks)
Solve the following story sums. Al workings must be shown clearly.
Draw models if necessary.

36.  Collin and Jacoh share 3000 beads. Jacob has 450 beads less than
Collin. How many beads does Jacob have?

Ans. [3]

13



37. A fruit selier had 1989 fruits. He sold 643 fruits and packed the
remaining fruits equally into 3 boxes. How many fruils were there in
gach box?

Ang.

14



38, Keith was packing candies into & bags. He wanted to pack 35
candies into each bag but he was short of 15 candies. How many
candies did Keith have?

Ans: R

15



38,

Ben collected 675 boitle caps.

He collected 412 more bottle caps than Cedric.
Daniel collected 862 more bottle caps than Cedric.
How many bottle caps did Daniel collect?

Ans,

16

(3]



40, Sticks are arranged to form identical triangles in the following

patierns.

\

Patiemn 4 Pattem 2 Paﬁern 3

[ Pattem | Number of sticks

Number

mi s e s

o o ey S ot e

{a) Draw Pattern 4 in the space below.

(&) How many sticks are needed for Paftern 107

END OF THE PAPER

17

Ans: (b)

&
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i6. 1.25

17.900

18. 6305

19. 250

20. 4024, 4204, 4240, 4420
21.8
22.90
23.9703
24.4572
25.556
26.2216
27.3.30
28.963
29. 146
30. 1288
31.39
32.432
33. 144
34. 150
35.78

36. 3000 — 450 = 2550
25502 =1275
Ans: 1275

37. 1999 — 643 = 1356
1356+3 =452
Ans: 452



38.35x5=175
175~ 15=160
Ans: 160

39.675-412=263

263+862=1125
Ans: 1125

b) 6x10= 60
Ans: 60
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